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PRICE AND OUTPUT DETERMINATION
UNDER PERFECT COMPETITION

Under perfect competition following conditions are being fulfilled in the market

1. HOMOGENEITY OF THE PRODUC I:

All units of the commodity sold in the market are perfectly identical with each other
There is no difference in size, weight, quality, label ctc, Thus every umt of the product 1s
available in the market at one price.

2. LARGE NUMBER OF BUYERS AND SELLERS:

Under perfect competition the number of buyers and sellers 1s very large. Every seller
1s having a small quantity of the commodity while, a buyer 1s only one among thousands
Thus an individual buyer or seller cannot intluence market price by his own action. He may

sell or buy any quantity, the market price remains un-allected

3. FREE ENTRY AND EXIT:

Under perfect competition new firms can enter and old firms may leave the industry
Due to free entry and exit of firms, equilibrium between demand and supply establishes on.!}.
one price in the whole market.
4. ELASTIC SUPPLY OF FACTORS OF PRODUC| ION:

. [n a perfect market the factors ol production are assumed more elastic in supply. The
units of these factors can cﬂﬁil}' be adjusted .n.u.'nninzj_‘, o the increase or decrease in market
dﬂmarllil. rhUS the rewards of factors remain the same and a single pnice of the product 1s
determined in the market.

3. PERFECT KNOWLEDGE OF THE MARKE T

Every buyer and seller is assumed to have full know ledge of market conditions. Due
0 full awareness about quantity and price of the product, none of the parties will be in a
::mm to exp{:{lt the qthcr. Therefore, same price will prevail in the whole market. Result of
E above conditions 'wﬂl be only one price of the commodity throughout the market.
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- Each firm thus tries to maximize the difference between total revenue and total cost.
ﬁ ﬁ:lpw] of output where TR — TC is maximum the equilibrium level will be detcrmmed

Itis Ehtﬁi)'ll in the following diagram.
EM ATION:

Under perfect competition as P = AR = MR at all levels of output thus TR becomes a
straight line starting from the orgin as shown in the diagram.
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So for as total cost curve (TC) 1s concerned, mmitially 1t falls and then nses in view of
“law of vanable proportions™.
~" In order to find out' the maximum difference between TR and TC, we derive GH
curve which is tangent to TC at point A and parallel to TR curve. AT this point output level =
OQ and TR - TC = AB whichy 1s maximum. In the diagram up to OE level of output,

TC > TR and firm faces loss. At pmm C, TR = TC (Firm earns normal pmhl‘) When firm
produces more than OE it starts carning abnormal profit which becomes maximum at output
level OQ (Here difference between TR and TC is highest). Profit starts diminishing beyond
OQ output and comes normal at output OF level and point D where again TR = TC.

e It must be noted that output below OE and beyond OF results loss the firm because
'~-"'".i'_' hnth the situations TR < TC.







A little or Minor loss
o, Shut down or Closing down point (major losses)

Actual position of the firm depends upon market price (AR) and (AC) cost per unit of
production and AVC,

(a) If AR > AC firm will eamn supernormal profit.

(b) If AR = AC firm will earn normal profit.

(c) When AR < AC firm will face losses.

1. _ EQUILIBRIUM UNDER ABNORMAL PROFIT (AR > AC):
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In the diagram (a) output is measured along X-axis while revenue and costs are
shown along Y-axis. AC = Average cost curve, AVC = Average variable cost curve and MC
= Marginal cost curve while MR, AR and P are Marginal revenue, Average revenue and
Price respectively.

MC curve intersects MR curve at point E which is the equilibrium level of the firm.
OQ 1s the equ. output.

AtOQoutput AC = FQand AR = EQ
Ast = TR-TC. and
TR = AC (0Q)= 0OQEP
TC = AC(0Q)=OQFB Thus n = OQEP - OQFB

= BFEP (Shaded area in the diagram)
As TR > TC Thus BFE P represents super normal profit







e FQ > EQ (AC > AR). As 1= TR - TC
Hence TR = O0Q(EQ)=O0QEP |
TR<STC

1TC = OQ(FQ)=0QFC ]
loss = OQFC - OQEP = PEFC (Shaded arca)

It is minor loss as AVC remains below point E. Here Average Variable Cost + Some
Part of Fixed Cost is being covered. It is in the interest of firm to continue production process
in short-period. If it stops production the loss will be greater in the form of total fixed cost
(TFC) which is to be paid even when closed.

4. SHUT DOWN POINT (MAJ OR LOSSES}_{A R=AVC) AND (AR < ATC):
(d) '
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In diagram (d) equilibrium point is E and output = OQ_'AVC passes through point E,

which means that the price of the product is very low which covers firms variable cost only
(E:Q) and TFC = total loss. Thus the firm is on closing down point. Shut down point is the

minimum point on AVC where MC curve interests AVC curve. A slightest fall in price may
ask firm to produce nothing. ' |
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Asloss = TR-TCand TR = OQ (EQ) = OQEP
While TC = 0Q (FQ) = OQFC
Loss = OQFC - OQEP = PEFC (Shaded area)
The loss 1s too much and {irm scems to be in oxygen tent breathing it's last.

. : _ firms entry and old firms exit is
he industry. The size and productive capacity can also be changed according to

cemand. Thus all factors of production become variable. Short-run situation
' the long-run following facts are visible:- i
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'I . ifference is that LAC and LMC are flatter than SAC and SMC.
I.ilr:-MR ~LAC=AR=P

1g diagram elaborates such a situation.
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